Saill SMART

POWER TO THE MAKERS

GENMITSU CNC ROUTER 3018-PRO

USER MANUAL



Contents

Part 1: Package List -----

Part 2: Mechanical INStAllAtiON  --—-soomceooomeeomeeemeeemeeemeeemeeemmmeeemmeeenee

Part 3: Debugging --------

Part 4: Offline Controller




Part 1. Package List

Name Size Picture Qty
20*40*290mm 2
Aluminum Profile 20*20*360mm 2
300*180mm 1
Guide Rail (X Axis) @#10*360mm 2
Guide Rail (Y Axis) @10*290mm 2
T8(365mm) 1
Lead Screw
T8(295mm) 1




Name Size Picture Qty
Phenolic Resin Plate 4
Stepmotor 2
Spindle & ER11 1
X-Z Axis Assembly 1
Slider 4
Nut Seat é}g 1
Milling Cutter  — 10




Name Size Picture Qty

4P Motor Line 3
Offline Controller 1
Spindle Motor Line 1
24V Power Supply 1
Control Board & 1
Fan & Case

USB Cable 1
Plate Clamp 4




Name Size Picture Qty
Winding Tube / 2M
USB Stick P | 1
Allen Wrench %:gmm;i:gmm’z'smm’ ﬁ 4

M5*10 4
Bolt M5*16 h 43

M3*14 | — 8
Copper Nut . 2
Nut 20M5 20*M5 & 16
Nut 30M5 30*M5 ﬂ 10
Spring % 2
Coupling & Set Screw - 2




I Part 2: Mechanical Installation
Bakelite:

Bakelite-A

Bakelite-B

Bakelite-C

Bakelite-D




SICIONEl Base Installation

Bolt M5°16 x12Pcs

@10°290mm x2Pcs

Bakelite-A

Prepare
materials

NO. NAME SIZE
1 Aluminum Profile 2040*290mm 2
2 Phenolic Resin Plate Bakelite-A 1
3 Phenolic Resin Plate Bakelite-B 1
4 Bolt M5*16 M5*16 12
5 Slider 4
6 Guide Rail (Y Axis) | ©@10*290mm 2

Slider xdPcs

Bakelite-B

&
]

¢'\ZF,I'&




NIl Table Installation

Bolt M5*16 x10Pcs

NO. NAME SIZE QTY.
1 Aluminum Profile 300*180mm
2 Copper Nut 1
3 Spring
4 Nut Seat 1

Eﬂraetg?ifls 5 Bolt M5*16 10

6 Bolt M3*14 4
7 Nut 30M5 30*M5 10
8 Lead Screw T8(295mm)
9 Stepmotor 42

10 | Coupling & Set Screw




Completed




NIV Base & Bakelite-C Installation

NO. NAME SIZE QTY.
Prepare 1 | Phenolic Resin Plate Bakelite-C
materials | 2 Bolt M5*16

Nut 20M5 20*M5

10

MNut 20M5 xéPcs

Bolt M5°15 x6Pcs



Completed

46.5mm

11




NI X-Z Axis Assembly Installation

Copper Nut;.

/S

X-Z Axis
Assembly

Bolt M2*14 xdpes

Coupling
Bolt M5"16 xdpcs

Step-motor

12

Prepare
materials

NO. NAME SIZE QTY.
1 X-Z Axis Assembly 1
2 Copper Nut 1
3 Spring 1
4 Aluminum Profile 20*20*360mm 2
5 Guide Rail (X Axis) @10*360mm 2
6 Lead Screw T8(365mm) 1
7 | Coupling & Set Screw 1
8 Bolt M5*16 4
9 Bolt M3*14 4




SICTOGN Bakelite-D Installation

Prepare
materials

NO. NAME SIZE QTY.
1 Phenolic Resin Plate Bakelite-D 1
2 Bolt M5*16 M5*16 10
3 Nut 20M5 20*M5 6

13




Completed

46.5mm

14




Spindle Installation

15




16

Caution

¢ Tighten the bolt without using excessive force to prevent plastic damage.



SI(CIOWal Control Board Installation

Control board

Bolt M5*10 x4pcs
Nut 20*M5 x4pcs

17




NICTIORS \Wiring Diagram

18

Connect the red wire to the
port next to the red mark

Spindle

Laser (12V 5Amax) )
(Not include)

7

( 24V DC Power
| adapter

USB

Connect your CNC to
computer using the
bundled USB cable

\ J

POWER
ON/OFF

[ Stepmotor ]

" 0w
[

[ Offline controller ]




Part 3:

Debugging

1. Install the driver ( software = Driver & CH340SER.exe )

gI_ISE: T

CH340SER

#5 DriverSetup(X64) L= 5 & OrrverSetup(Xi) L=
Device Driver Install { Uninstall Dizsice Driver Install ] Uninstall
Select INF File: CH341SER.INF
DrrverSetug:

l | WCH.CN
INSTALL |__ USB-SERIAL CH340

|__ 11042011, 3.3.2011.11
UNINSTALL

HELP

ﬂ The drive is successfully Pre-installed in sdvance!

-

19




2. To Determine your Machine's COM port:
* Windows XP: Right click on "My Computer", select "Manage", select "Device Manager".
* Windows 7: Click "Start" = Right click "Computer" = Select "Manage" - Select "Device Manager" from left pane.
¢ In the tree, expand "Ports (COM & LPT)"
* Your machine will be the USB Serial Port (COMX), where the “X” represents the COM number, for example COM12.
« If there are multiple USB serial ports, right click each one and check the manufacturer, the machine will be "CH340".

-

-
| B g =
Mag riebadik dv not..,

Drscennect netevek drnoe...

Create dhors 8
Delete
Rerpms

Propertes

20




3. Open Grblcontrol software(software = Grblcontrol = GrblControl.exe)

_. e ChOOSE the correct port Geuirsl iy
i — cemE - ||| | @l@je el
e i B8 %0 %
gz 2 datematisaly it gver 1 bnforn sl frsm lasiod bim =
e N eyl e [em
e e, e : -1
Eornste L e — ur
ey Spinde apred win & - [ — I
P [ ’ - - |_'“_| |z |
1512 i =T 1R ) 1
6680 ¢ B0 8 000 i S0, D, T [ |v| |..,|
Bale potibice pombinds = S —
L] LEmmEd . OO0 JEMER g |.— :i
] "hiatare i diead Vel 46 e oT) Prail l'-___;."'
[ (u] W PR
[RR— | =
._“._l!t o I-'"ﬂ.-ln-ll B vk
Fan wn dedl G

FJ St ek B ekl === | e | | = T E—— ]




 Console window print ” [CTRL+X] < Grbl 1.1f ['$' for help]” If the connection is successful.
 Console window print ” Serial port error 1: No such file or directory “ indicate that the connection is failed.

Eomsale Con=zale

[CTEL+Y] < Gebl 1.1 ['$ for Serial port error 1. Ho such

help] ' file or dirsctory
successful unsuccessful

22




» Grblcontrol Use

7 e e
Ll L]
g.:-.?:mu----'-w-g o a
s \ v e
The spindle speed: It does not represent the actual e
Ii speed, and it represents the ratio.
— R _ And this percentage is not linear.
.o
100 =100/1000 —» 10%
T T 1000 = 1000/1000 —» 100% max
0% 100%
\_ J
Ty 'ty
I oo © o0 Tarvima WL
600 000 Rom
- Commaint s — L]
WM £ debd £ 1 O o
izl
7] s wdn (¥ taernd e Tomd P e

spindle
on/off

The XY Z
axis jog

23




« Tool setting

e et

troeds pragm

ugﬂrqmmmfil'}awnm

be on when
moving the bits m-
P snardinites
2] 1o S & oom om oo
S| rm—————
L. o o
zero XY zero Z el 5 = 2
Use the jog to move the milling cutter. Cuirsd _
y D Dl

\Then click button zeroXY and zeroZ.

| | :

= fpandlls
[ Lo
Lo R o000 F R @
T ohodd . L3 Buffar: 0 /0 /8 ‘ .
i | —\|
e - HBoE
1 e e | EI
' 03 060 (R o e = ‘
s L T I e T 1 =
4 EEEE e ([ Eerbesrd cmtrst )
T B mEEL naee  Open the G-code file Start working End P ..
] GILNRA Y3 B i I I ! e '..'.“_ N TR
17 Chack w9 dasencrat (=] e e | R Ao

24




Part 4: Offline Controller

Notice: When using the offline controller, remove the USB cable from the PC. Offline controller and PC cannot be used

together.

1. Connect offline controller to PC via USB cable.

25




2. Then copy the NC file to the offline controller.

ko vretceds =[] Seevhlmtoede

i

T P Tistn rrecinsey A1QENES ded & B0

26




3. Offline controller connected to the control board.

4. Press the [X+/X-/Y+/Y-/Z+/Z-] key to move the spindle to the machine origin, select the engraving file, click the [OK]

key to start engraving.

27




5. Interface introduction
A. Menu Page

[ SD/TF Card )
; Y+
I+
® [
MENU
X- OK/Spindle X+
& @
r Y-  Exit/Step
{
\ USB ;
Ctrl Machine Control
File Use the G-code file

Press key [Y+] or [Y-] to select

Press key [OK] to Enter

28




B. Ctrl Page

S5D/TF Card

W+

X- OkKfSpindle X+
L]

Y- Exit/Step|

)

X+ X-axis positive direction
X- X-axis negative direction
Y+ Y-axis positive direction
Y- Y-axis negative direction
Z+ Z-axis positive direction
Z- Z-axis negative direction
OK/Spindle(SP) | Spindle On/Off
. Long press to exit, short press to
Exit/Step change step (0.1/1/5/10mm)
SP1% Power to spindle (Press [OK]+[Z+]=add,

Press [OK]+[Z+]=reduce)

Reference direction

29




C. File Page

( SD/TF Card 1
Y+
L+
© &

X- OK/Spindle X+

Y- Exit/Step
@&

3 USB

Press key [Y+] or [Y-] to select file

Press key [OK] to Enter

Press key [OK] to begin if you are ready.

30




www.sainsmart.com

support@sainsmart.com

2711 Centerville Road, Wilmington, DE, 19808, United States




